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(E)

(E)

1111 -246 2,330 - -457 4,770 -196
45 +10 72 +8 -12 140 +0
43 +13 12 +8 -0 139 +18
28 +9 26 +5 -13 50 +68
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=FLT

04/3 04/6
1,081 1,149 +68
1,765 1,735 -30
2,847 2,885 +38
1,019 1,011 -7
920 952 +31
1,940 1,964 +24
5 5 0
901 915 +13
1,243 1,261 +18

03/6 04/6
12 13 +0
29 26 -2




=FLT

2

(E) | (E) | (E) | / E | (E) |
426 428 457 443 883 883 871 1,769 1,769 1,700
218 226 283 240 501 538 466 1,058 1,092 910
197 180 200 190 397 360 370 808 766 759
278 287 310 298 588 588 585 1218 1218 1,139
34 16 14 24 48 36 40 79 79 79
347 367 714 714
21 22 18 20 39 39 42 79 79 84
-63 -148 -63 -153 -126 -114 -301 -241 -233 -419
1111 1,358 1,219 1429 2,330 2,330 2,787 4770 4770 4966
15 24 18 18 33 33 42 68 68 65
0 -3 3 -2 3 6 -5 11 11 -9
4 3 2 3 6 4 6 10 8 12
15 13 8 17 23 23 30 47 47 51
23 10 5 20 28 20 30 45 45 54
1 2 3 3
2 4 -1 3 1 -1 7 2 2 12
-13 -17 -9 -12 -22 -21 -29 -43 -41 -49
46 35 26 49 72 64 84 140 140 139
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